BT v % T ERMET (eky22)
109217 1p 2109# 127 31p xD)
Hi.+ =
2 i &3 Bk &%
&2 T (A=1+243) 1, 388, 231 1,486, 090
- AQD) 471, 681 474,730
FAHPEF=B L - D2 T FEH2) 838, 940 815, 490
FAHE - & P2 2 A(3) 77,610 195, 870
wi T RIF A (B=4-5+6+7) 13, 237 43, 398
it £ g A (4) 838, 940 815, 490
mE ERBT AR AP FZ B 0 > - P D2 232 3%(5) 838, 940 815, 490
e 3% 78 (6) 11,428 36,018
iiﬁﬁ%?%ﬂ%i(?) 1,809 7, 380
‘edp f R (C=8-9+10+11412-13) 131,720 209, 212
e g (8) 110, 771 198, 408
b fOR g T IR AT RBER £237(9) 8, 155 14, 943
7~ 4 (10) 28, 142 20, 392
LS EXCD) - -
Prfc 2 F gk IE (12) 362 395
e 2 R EE A g T AT AR REFR £239(13) - -
TAPA RS A TEOD) 25, 048 69, 791
# * ¥ & (E=A+B-C-D) 1,244,700 1, 250, 485
3l Iﬁuéiﬂ T3 RRE(F AP IHEZp 3 rRZBIPINP 22 3HE) R LERTAE T 3 HRDF =
”Vl*’*ﬁWQW%'Lﬂ&vﬂ%xpﬁTéﬁjH” E: BRI ESE & =
2 BV RAFTAGHENCY AN ERILEZ MBALHET R 4L N ERT A RHEE L 2P R
FoOBAP B ERETAS Z FHDPEF =B 0 > - Ep 2 2 H K
3:wmﬁﬁﬁéﬁﬂhﬁfﬁﬂmiﬁﬁﬁzﬁﬁiﬁ’é%:mﬁﬁ%~#»%ﬁ£~@ﬁ%§%\%ﬁ
BAETRIE o e s Bdn T R A R R £ 230
43A*Wﬁﬁ&ié%%ﬁ%ﬁ%ﬁTma‘WH&%% %WﬁMﬂbwﬂﬁfé%k%ﬁiﬁé%B’
g p ke e A - 245 H giﬁﬁ’giﬂ ERERT YT £ -
5:?¥$$ﬁ%§f%Fﬂ$5Lﬁﬁjﬁ %mgﬁrkvww&Q?é%E?#Wﬁﬁ”%%%ﬁﬁ
AT R YRR TRTEY 274 -
B4R
1:%1Fx53231p ~%2F56%30p ~%3%597230p ~%4F512731p -
2N ATHRPEANTR T FEPA GOV AEFZ2LEARTF -
- ~ 10928 2127 31p & 2 I % pp doT
(E=:+ =)
* A% 281, 846
JRI% 3 * 216, 272
EEEL 16, 029
T 37452 Fs 135, 086
;fﬁ#ﬂ'@%a"(%éﬁ 7)) 932
§ % ST A L A feE (DB RER B 46, 988
iy~ PR S g 2,219
H 32
TR FTEPAEDAEGFLF R T

-

3
A~

ERFUEA L DR o

FEERI A EFFH A5, T8F A AR GRTINKEFTH T F R A S B AR ERET




